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All Candidates' performance across questions

Question Title Mean Max Mark Attempt % 1
1 606 2.5 0.9 3 84.6 100 <—
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


Part of a shape is shown on the grid.

The dotted line is the line of symmetry of the shape.

Complete the drawing of the shape and then rotate your complete shape through 180° about the

origin.
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Part of a shape is shown on the grid.

The dotted line is the line of symmetry of the shape.
Complete the drawing of the shape and then rotate your complete shape through 180° about the

origin.

(3

© WIEC CBAC Lid.

{4364-02)

Examiner

only

Turn over.

184
020003



Part of a shape is shown on the grid.
The dotted line is the line of symmetry of the shape.

Complete the drawing of the shape and then rotate your complete shape through 180° about the

origin.
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Sticky Note
Rotation around one of the shape’s vertices, instead of around the origin.

Sticky Note
The shape is completed using the line of symmetry.


Part of a shape is shown on the grid.

The dotted line is the line of symmetry of the shape.

Complete the drawing of the shape and then rotate your complete shape through 180° about the

origin.
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Sticky Note
The candidate has rotated the original shape correctly about the origin.

Sticky Note
The candidate did not complete the shape using the dotted line as a line of symmetry.


(a) Solve %X:IO.
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(&) Solve '§§-‘ =10. [2)
S =10, 5x182\.25. .. 5x10 -\0
5 = §
() Sove Z=7 (]
2E .l ke Wxn =38 g8 =]
- _ ¥ =
(c) Solve 6(3x—17)=42. (3]
e 2 xT=ha  +)7 |
i et ol _
? L8259 OB ccsrimipbnt
s e
=3
(d) Solve the inequality 9x + 5 <77. [2
(e) Write down the greatest whole number that satisfies the inequality Sx <85, 2]
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Examiner

2. (a) Solve 53’.‘ =10. / al =
S =10, 5%18.211.2S v  5xl6 -\0
8 2 g
2.
(b) Solve 2;8 =7 [1]
28 -1 K. MX128. 28 =1
x i \

(c) Solve 6(3x—17) =L426.—| 3]

1§ 1= Ha  +)7
1 gx=59 e
B S9-.18:3.2117 BAR B
@ =33 N

(d) Solve the inequality 9x + 5 <77. 2]

e

—
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(e) Write down the greatest whole number that satisfies the inequality Sx < 85. [2]
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Sticky Note
B0 due to initial error

Sticky Note
Appropriate response following the one initial error

Sticky Note
Follow through collection of terms

Sticky Note
One error, 17 was not multipled by 6
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(3 Sove =10, 3]
e =D W ...

) sove B=7 []
23704
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(c) Solve 6(3x—17)=42. I8 102 =42. 3]

(d) Solve the inequality 9x + 5 < 77. 2

(e) Write down the greatest whole number that satisfies the inequality 5x <85 [2]






Sticky Note
Is it this lack of confidence that leads to no other algebra questions being attempted?

Sticky Note
The candidate is correct in their initial strategy.
However writing at the side here indicates some lack of confidence, a shame as they were correct.


(@) What percentage is 34 of 68007 2]

(c) Evaluate each of the following three lengths correct to two significant figures, and then
arrange them in ascending order.
You must show all your working. [5]

0-26 of 1345 metres

% of 600 metres

4-5% of 3600 metres

Smallest Largest

(d) Calculate the difference between
¢ the smaller share when 450 is shared in the ratio 4:5
and
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3.

5

fa) What percentage is 34 of 68007 [2]
R T = BN

(b) Increase 34000 by 2 ;%. 2]

Y4 =025 ALOOO %2 25 = TeSOO .

(c) Evaluate each of the following three lengths correct to two significant figures, and then
arrange them in ascending order.
You must show all your waorking. [5]

0-26 of 1345 metres
g- of 600 metres
4-5% of 3600 metres

O IR4S X Q202348971 . B350 s
3’?3—@:575 __________ = o0 xQ:3l5 =225

Smallest Largest

(d) Calculate the difference between
« the smaller share when 450 is shared in the ratio 45 =<

and __}/__
- $otaso e 51

450 ~=9=50.=.1l.9nacc. .
SO X4 =2200....4 3 ores o e

200350 =250 R . i
QDRGS0

Wl
)
0
O

.Di.F'F.C[TCDCZC‘......T....f_’).b.@:ﬁ,m._T.‘.‘..i...b.D.......__.. I
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(a) What percentage is 34 of 68007 [2]
B0 X Q23422312 )
MO
Ao
() Increase 34000 by 2 ;%. 2]
\ s
=025 DHOQOX2:25 = 16500 MO
S AO
(¢) Evaluate each of the following three lengths correct to two significant figures, and then
arrange them in ascending order.
You must show all your working. 5]
0-26 of 1345 metres
% of 600 metres
45% of 3600 metres Ml .
?134S 102623491, = 350 , ‘2\“*'
3'3:(\"\75 = (OO XOBIS=22S A\l
S/ =0:045 2. 200.5X0:04S 2162 80
=
delrocices A2D metgees . 2oOmocEes
Smallest Largest
(d) Calculate the difference between
« the smaller share when 450 is shared in the ratio 45 =<
and e |
- 2 ofas0. fS A s 5]
4509 =50.=].Snace.
S e D O S i e
200+x50.z2250 S.8neres g
(G iir oy S P B b Faas G YN
.Di.f.tpccmd: = 2300 =-20Q.=. 1o /
© WJEC CBAC Lid. (4384-02) Turn over. @



Sticky Note
Hence, final mark is B0

Sticky Note
The candidate does not give answers correct to two significant figures.

Sticky Note
No full method, this should include divison by 100.

Sticky Note
Finding 34% of 6800 instead?
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3. (a) What percentage is 34 of 68007 2]
i = 04 O-5.24.
i v
(b) Increase 34000 by 2 }%. 2]
2. 6. 30000, 5. 68O, .. 22624 of. 3000, = 765,
A %o of 3lueoo T 85 34000+ 765.5. 347265
(c) Evaluate each of the following three lengths correct to two significant figures, and then
arrange them in ascending order.
You must show all your working. [5]
0-26 of 1345 metres W
-g- of 600 metres ﬁ
4:5% of 3600 metres
.......... 26. 7. oL 1345, = 3LY.7 (305, 5000 % 26
3
Z5.00.600.5.225 T .
4.5% o 3600 = 162 U002 100 % LS

489 o 2600,
Smallest

(d) Calculat

the difference be n
* the

when 450 is shared in the ratio 4:5

and
. gomso. [5]
......... 9. shovtd..= S0 X% onliso.z 0.
| Shave = 50 b op bSe. 5360
el B B (B DROTEL L e ke W s B e e
85 AN KA. e SOOI DN
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3. (@ What percentage is 34 of 6800? [2]
| % = 69 052
0:5% = 3L L
(b) Increase 34000 by 2 ;%. 2
2.%...96..34000..5..689 2.%6.%%. 0. . 30000, 2. 765
2

. %.%4. 30009, 585 34000.4.7265.7.35.26.5

arrange them in ascending order.
You must show all your working.

0:26 of 1345 metres %6
% of 600 metres %/

4-5% of 3600 metres

(c) Evaluate each of the following three lengths correct to two s@@iﬁgures, and then

26.70..00.135..2. 3097 v L3S 5000 X 26

18]

2% ot 600. = 225 ; oo = 8 X3

4.5% of 3600 = (62 g

4.5% 00 2600 %opéoo.

Smallest

(d) Calculaté the difference between
the when 450 is shared in the ratio 4:5

@ and

4364
020005

- 3 otaso0. (5]
9. Shoves.. .ol so )/5 o Lso. = .90
Il Share =~ 50 ":/f OYI LSo. =360
LL Ay |nm Vg o T ?_ OO /
2% s c&vml;r o, e smallens Seav o
=
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Sticky Note
Final A0 not awarded, as difference not calculated

Sticky Note
The ‘term’ difference is either missed or not understood

Sticky Note
Not given to required accuracy

Sticky Note
Accuracy required
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UNIT 2 (HIGHER TIER)

Methods in Mathematics
Unit 2 Higher Tier June 2014

Mark

Comment

1. Shape completed accurately with correct rotation
seen

B3

With no other 90° rotations shown

B2 for at least two lines correct in attempting to
complete the shape with correct rotation of their
shape with no other 90° rotations shown, OR

B1 for the shape completed correctly, or a correct
rotation of the part of the shape given, ignore other
90° rotations shown
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UNIT 2 (HIGHER TIER)

Methods in Mathematics

Unit 2 Higher Tier June 2014 Mark Comment
2. Accept embedded answers in parts (a), (b) & (c)
(@) (x=)10x8/5 M1
x =16 Al
(b) (x=)4 B1 Mark final answer. Do not accept 28/7
(c) 18x - 102 =42 OR 3x —17 =42/6 Bl FT until 2" error
18x = 144 3x=24 or x=24/3 Bl
Xx=8 Bl
(d) 9x<77-5 M1 | No marks for use of “=", unless finally replaced to
X<8 Al | give x<8 then award M1 Al.
SC1 for x<82/9 ISW
(e) x<85/5 orx<17 M1 Or sight of 5x16 = 80 with 5x17 =85
16 Al Accept unsupported 16, or a unique answer of 16
from a trial and improvement method. Do not
accept x<16.
SC1 for sight of 5x = 85, x = 17 followed by
10 selecting x =16
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UNIT 2 (HIGHER TIER)

Methods in Mathematics
Unit 2 Higher Tier June 2014

3(a) 100 x 34 /6800 or 100 x 34 + 6800
0.5(%) or %2(%)
(b) 1.0225 x 34000 or 34000 + 34000 x 2.25 /100
or 102.25 x 34000/100
34765

() 0.26x1345 or ¥%:x600 or 0.045%3600 or equivalent
349.7 (m)

225 (m)
162 (m)
160 230 350
(d)450x4+9
=200
450 x4 +5
=360

Difference 160

’ Mark ‘

M1
Al
M1

Al

M1
Al
Al
Al
Bl

M1
Al
M1
Al
Al
14

Comment

Accept 0.25 written as ¥4

Any one correct calculation shown

Accept 349 or 350

Accept 230

Accept 160

Must all be 2 significant figures

FT provided at least 2 of the A marks awarded

Complete method

CAO

Complete method

CAO

Depend on both M marks
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